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* ER is a model which will display data in a high-level manner, this
diagram is usually used in data analysis and modeling phase. The
data building is represented by using an easy graphical form.
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* Entity is an object or thing have attention in the system, and we
have to collect and record data for this entity. And can look to the
entity as a class of data.
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e Attributes is a characteristics of the entity, in other words is the information to

be stored for a particular entity, and it represents table columns in a relational
database.
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* Simple attributes cannot be fragmented, such as: Stud ID, gender,
and birth...

e Composite attributes are a characteristics are that can
defragment such as: Name (first name, second name), and
address (city, town, street, house number).
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Single — valued attributes is contain a single value such as (ca
manufacture).

* Multiple — valued attributes are have multiple values ,such as the color of the
car (there could be the color of the roof, body sides).
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 Derived attributes can be derived from other attributes.
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 The relationship (R) between a set of entities (E1, E2, ... En)
represents the links between these entities, and each instance in
R is a union between related entities, therefore the unit
represents a single row from each participating entity in this
relationship.
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« Weak entities are a no independent entities in a system,

therefore their existence depends on the existence of another
entity.
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Suppose you have a (Learning management System), this system have a
number of students those registered to many courses, The registrar of learning

system is write the year and the class number when registering a student for
any course.

Propose ER diagram to this system?
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Suppose we have a (Library management System), this library contains many
Books that composed by Authors, every author can compose one or more
book. These books are published by one Publisher that can publish one or
more book.

Propose ER diagram to this system?
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* Suppose we have a (Company management System), this company contains
many Employees that are belongs to Departments, and works on Projects. One
department have many employees, and every employee is works to one
project, as well as every one project is worked by many employees.

* Propose ER diagram to this system?
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